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Prog=30+150.000

Prog=30+200.000

Prog=30+250.000

Prog=30+300.000

Prog=30+350.000

Prog=30+400.000

Prog=30+450.000

Prog=30+500.000

Prog=30+550.000

Prog=30+600.000

Prog=30+650.000

Prog=30+700.000

Prog=30+750.000

Prog=30+800.000

Prog=30+850.000

Prog=30+900.000

Prog=30+950.000

Prog=31+000.000

Prog=31+050.000

Prog=31+100.000

Prog=31+150.000

Prog=31+200.000

Prog=31+250.000

Prog=31+300.000

Prog=31+350.000

Prog=31+400.000

Prog=31+450.000

Prog=31+500.000

Prog=31+550.000

Prog=31+600.000

Prog=31+650.000

Prog=31+700.000

Prog=31+750.000 Prog=31+800.000

Prog=31+850.000

Prog=31+900.000 Prog=31+950.000

Prog=32+000.000 Prog=32+050.000

Prog=32+100.000 Prog=32+150.000

Prog=32+200.000 Prog=32+250.000

Prog=32+300.000 Prog=32+350.000 Prog=32+400.000

Prog=32+450.000 Prog=32+500.000

Prog=32+550.000 Prog=32+600.000 Prog=32+650.000

Prog=32+700.000 Prog=32+750.000

Prog=32+800.000

Prog=32+850.000

Prog=32+900.000

Prog=32+950.000

Prog=33+000.000

Prog=33+050.000

Prog=33+100.000

Prog=33+150.000

Prog=33+200.000

Prog=33+250.000 Prog=33+300.000

Prog=33+350.000

Prog=33+400.000

Prog=33+450.000

Prog=33+500.000

Prog=33+550.000

Prog=33+600.000

Prog=33+650.000

Prog=33+700.000

Prog=33+750.000

Prog=33+800.000

Prog=33+850.000

Prog=33+900.000

Prog=33+950.000

Prog=34+000.000 Prog=34+050.000

Prog=34+100.000

Prog=34+150.000

Prog=34+200.000

Prog=34+250.000

Prog=34+300.000

Prog=34+350.000

Prog=34+400.000

Prog=34+450.000

Prog=34+500.000

Prog=34+550.000

Prog=34+600.000

Prog=34+650.000

Prog=34+700.000

Prog=34+750.000

Prog=34+800.000

Prog=34+850.000

Prog=34+900.000

Prog=34+950.000

Prog=35+000.000

Prog=35+050.000

Prog=35+100.000

Prog=35+150.000

Prog=35+200.000

Prog=35+250.000

Prog=35+300.000

Prog=35+350.000

Prog=35+400.000

Prog=35+450.000

Prog=35+500.000

Prog=35+550.000

Prog=35+600.000

Prog=35+650.000

Prog=35+700.000

Prog=35+750.000

Prog=35+800.000

Prog=35+850.000

Prog=35+900.000

Prog=35+950.000

Prog=36+000.000

Prog=36+050.000

Prog=36+100.000

Prog=36+150.000

Prog=36+200.000

Prog=36+250.000

Prog=36+300.000

Prog=36+350.000

Prog=36+400.000

Prog=36+450.000

Prog=36+500.000

Prog=36+550.000

Prog=36+600.000

Prog=36+650.000

Prog=36+700.000

Prog=36+750.000

Prog=36+800.000

Prog=36+850.000

Prog=36+900.000

Prog=36+950.000

Prog=37+000.000

Prog=37+050.000

Prog=37+100.000

Prog=37+150.000

Prog=37+200.000

Prog=37+250.000

Prog=37+300.000

Prog=37+350.000

Prog=37+400.000

Prog=37+450.000

Prog=37+500.000

Prog=37+550.000

Prog=37+600.000

Prog=37+650.000

Prog=37+700.000

Prog=37+750.000

Prog=37+800.000

Prog=37+850.000

Prog=37+900.000

Prog=37+950.000

Prog=38+000.000

Prog=38+050.000

Prog=38+100.000

Prog=38+150.000

Prog=38+200.000

Prog=38+250.000

Prog=38+300.000

Prog=38+350.000

Prog=38+400.000

Prog=38+450.000

Prog=38+500.000

Prog=38+550.000

Prog=38+600.000

Prog=38+650.000

Prog=38+700.000

Prog=38+750.000

Prog=38+800.000

Prog=38+850.000

Prog=38+900.000

Prog=38+950.000

Prog=39+000.000

Prog=39+050.000

Prog=39+100.000

Prog=39+150.000

Prog=39+200.000

Prog=39+250.000

Prog=39+300.000

Prog=39+350.000

Prog=39+400.000

Prog=39+450.000

Prog=39+500.000

Prog=39+550.000

Prog=39+600.000

Prog=39+650.000

Prog=39+700.000

Prog=39+750.000

Prog=39+800.000

Prog=39+850.000

Prog=39+900.000

Prog=39+950.000

Prog=40+000.000

Prog=40+050.000

Prog=40+100.000

Prog=40+150.000

Prog=40+200.000

Prog=40+250.000

Prog=40+300.000

Prog=40+350.000

Prog=40+400.000

Prog=40+450.000

Prog=40+500.000

Prog=40+550.000

Prog=40+600.000

Prog=40+650.000

Prog=40+700.000

Prog=40+750.000

Prog=40+800.000

Prog=40+850.000

Prog=40+900.000

Prog=40+950.000

Prog=41+000.000

Prog=41+050.000

Prog=41+100.000

Prog=41+150.000

Prog=41+200.000

Prog=41+250.000

Prog=41+300.000

Prog=41+350.000

Prog=41+400.000

Prog=41+450.000

Prog=41+500.000

Prog=41+550.000

Prog=41+600.000

Prog=41+650.000

Prog=41+700.000

Prog=41+750.000

Prog=41+800.000

Prog=41+850.000

Prog=41+900.000

Prog=41+950.000

Prog=42+000.000

Prog=42+050.000

Prog=42+100.000

Prog=42+150.000

Prog=42+200.000

Prog=42+250.000

Prog=42+300.000

Prog=42+350.000

Prog=42+400.000

Prog=42+450.000

Prog=42+500.000

Prog=42+550.000

Prog=42+600.000

Prog=42+650.000

Prog=42+700.000

Prog=42+750.000

Prog=42+800.000

Prog=42+850.000

Prog=42+900.000

Prog=42+950.000

Prog=43+000.000

Prog=43+050.000

Prog=43+100.000

Prog=43+150.000

Prog=43+200.000

Prog=43+250.000

Prog=43+300.000

Prog=43+350.000

Prog=43+400.000

Prog=43+450.000

Prog=43+500.000

Prog=43+550.000

Prog=43+600.000

Prog=43+650.000

Prog=43+700.000

Prog=43+750.000

Prog=43+800.000

Prog=43+850.000

Prog=43+900.000

Prog=43+950.000

Prog=44+000.000

Prog=44+050.000

Prog=44+100.000

Prog=44+150.000

Prog=44+200.000

Prog=44+250.000

Prog=44+300.000

Prog=44+350.000

Prog=44+400.000

Prog=44+450.000

Prog=44+500.000

Prog=44+550.000

Prog=44+600.000

Prog=44+650.000

Prog=44+700.000

Prog=44+750.000

Prog=44+800.000

Prog=44+850.000

Prog=44+900.000

Prog=44+950.000

Prog=45+000.000

Prog=45+050.000

Trav. 1201 Trav. 1337R

60U/400/0,074 sx

60U/400/0,074 sx 60U/400/0,074 dx

60U/250/0,12 dx

60U/250/0,12 sx60U/250/0,12 dx
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Az.Rett=124.232g

Az.Rett=97.735g

Az.Rett=150.701g

Az.Rett=122.558g

Az.Rett=203.611g

Az.Rett=191.380g

Az.Rett=172.753g

Az.Rett=169.621g

Az.Rett=180.381g

Az.Rett=158.104g

Az.Rett=145.091g

Az.Rett=185.779g

Az.Rett=183.678g

Az.Rett=167.159g

Az.Rett=174.943g

L = 882.132

L = 920.883

L = 1036.453

L = 1743.332

L = 441.750

L = 438.700

L = 2801.182

L = 1231.501

L = 250.902

L = 444.440

L = 389.089

L = 291.940

L = 260.970

L = 682.181

L = 1514.605

Sv= 4375.946R= 5500.000

Sv= 6802.420R= 5500.000

Sv= 795.306R= 5800.000

Sv= 2632.574R= 6000.000

Sv= 1697.215R= 5500.000

Sv= 558.703R= 6000.000

Sv= 2089.210R= 5500.000

Sv= 2477.407R= 6000.000

Sv= 977.708R= 6000.000

Sv= 1512.054R= 5800.000

Sv= 293.177R= 8500.000

Sv= 1844.556R= 5800.000

Sv= 1000.594R= 5800.000

Sv= 755.584R= 5500.000

Sv= 230.134R= 10000.000

Sv= 1801.097R= 7500.000

N 4495450.714 E 526681.642

N 4460519.766 E 554566.904

0+882.132 : F_Re -

4+292.225 : F_Re -

10+104.624 : F_Re -

14+675.363 : F_Re -

22+319.534 : F_Re -

24+085.942 : F_Re -

28+769.177 : F_Re -

30+543.855 : F_Re -

31+960.063 : F_Re -

34+619.059 : F_Re -

36+378.743 : F_Re -

42+906.056 : F_Re -

43+597.160 : F_Re -

46+370.438 : F_Re -

48+793.746 : F_Re -

1+082.132 : F_Tr -

3+371.342 : F_Tr -

4+492.225 : F_Tr -

9+068.170 : F_Tr -

10+279.624 : F_Tr -

12+932.031 : F_Tr -

14+875.363 : F_Tr -

21+877.784 : F_Tr -

22+494.534 : F_Tr -

23+647.242 : F_Tr -

24+270.942 : F_Tr -

25+967.996 : F_Tr -

28+894.177 : F_Tr -

29+312.354 : F_Tr -

30+728.855 : F_Tr -

31+709.161 : F_Tr -

32+145.063 : F_Tr -

34+174.620 : F_Tr -

34+804.059 : F_Tr -

35+989.654 : F_Tr -

36+553.743 : F_Tr -

39+361.317 : F_Tr -

39+561.317 : F_Tr -

40+516.901 : F_Tr -

40+716.901 : F_Tr -

42+614.116 : F_Tr -

43+006.056 : F_Tr -

43+336.190 : F_Tr -

43+742.160 : F_Tr -

45+688.257 : F_Tr -

46+545.438 : F_Tr -

47+279.141 : F_Tr -

3+171.342 : F_Cu -

8+868.170 : F_Cu -

12+757.031 : F_Cu -

21+677.784 : F_Cu -

23+472.242 : F_Cu -

25+782.996 : F_Cu -

29+187.354 : F_Cu -

31+524.161 : F_Cu -

33+989.620 : F_Cu -

35+804.654 : F_Cu -

39+186.317 : F_Cu -

40+316.901 : F_Cu -

42+414.116 : F_Cu -

43+236.190 : F_Cu -

45+543.257 : F_Cu -

47+104.141 : F_Cu -

Va = 0+337.960

Va = 1+278.870

Va = 2+848.840

Va = 5+048.840

Va = 5+748.840

Va = 7+055.091

Va = 21+377.356

Va = 22+846.000

Va = 23+875.000

Va = 24+700.000

Va = 26+200.000

Va = 28+300.000

Va = 32+800.000

Va = 34+400.000

Va = 36+200.000

Va = 39+696.851

Va = 42+296.169

Va = 43+463.480

Va = 46+265.132

Va = 46+860.414

Va = 47+727.090

IN_Va  0+269.975

IN_Va  1+152.015

IN_Va  2+717.836

IN_Va  4+853.252

IN_Va  5+578.769

IN_Va  7+036.625

IN_Va  21+212.663

IN_Va  22+820.201

IN_Va  23+715.601

IN_Va  24+626.350

IN_Va  26+160.714

IN_Va  28+271.405

IN_Va  32+751.758

IN_Va  34+347.011

IN_Va  36+155.331

IN_Va  39+652.196

IN_Va  42+209.831

IN_Va  43+389.173

IN_Va  46+196.108

IN_Va  46+822.436

IN_Va  47+690.285

FIN_Va 0+405.949

FIN_Va 1+405.732

FIN_Va 2+979.842 FIN_Va 5+244.428

FIN_Va 5+918.891

FIN_Va 7+073.557

FIN_Va 21+542.067

FIN_Va 22+871.799

FIN_Va 24+034.399

FIN_Va 24+773.650

FIN_Va 26+239.286

FIN_Va 28+328.595

FIN_Va 32+848.242

FIN_Va 34+452.989

FIN_Va 36+244.669

FIN_Va 39+741.506

FIN_Va 42+382.506

FIN_Va 43+537.788

FIN_Va 46+334.155

FIN_Va 46+898.393

FIN_Va 47+763.896

Prog=0+000.000 Prog=0+050.000 Prog=0+100.000 Prog=0+150.000 Prog=0+200.000 Prog=0+250.000 Prog=0+300.000 Prog=0+350.000 Prog=0+400.000 Prog=0+450.000 Prog=0+500.000 Prog=0+550.000 Prog=0+600.000 Prog=0+650.000 Prog=0+700.000 Prog=0+750.000 Prog=0+800.000 Prog=0+850.000 Prog=0+900.000 Prog=0+950.000 Prog=1+000.000 Prog=1+050.000 Prog=1+100.000 Prog=1+150.000 Prog=1+200.000 Prog=1+250.000 Prog=1+300.000 Prog=1+350.000 Prog=1+400.000 Prog=1+450.000 Prog=1+500.000 Prog=1+550.000 Prog=1+600.000 Prog=1+650.000 Prog=1+700.000 Prog=1+750.000 Prog=1+800.000 Prog=1+850.000 Prog=1+900.000 Prog=1+950.000 Prog=2+000.000 Prog=2+050.000 Prog=2+100.000 Prog=2+150.000 Prog=2+200.000 Prog=2+250.000 Prog=2+300.000 Prog=2+350.000 Prog=2+400.000 Prog=2+450.000 Prog=2+500.000 Prog=2+550.000 Prog=2+600.000 Prog=2+650.000 Prog=2+700.000 Prog=2+750.000 Prog=2+800.000 Prog=2+850.000 Prog=2+900.000 Prog=2+950.000 Prog=3+000.000 Prog=3+050.000 Prog=3+100.000 Prog=3+150.000 Prog=3+200.000 Prog=3+250.000 Prog=3+300.000 Prog=3+350.000 Prog=3+400.000 Prog=3+450.000 Prog=3+500.000 Prog=3+550.000 Prog=3+600.000 Prog=3+650.000 Prog=3+700.000 Prog=3+750.000 Prog=3+800.000 Prog=3+850.000 Prog=3+900.000 Prog=3+950.000 Prog=4+000.000 Prog=4+050.000 Prog=4+100.000 Prog=4+150.000 Prog=4+200.000 Prog=4+250.000 Prog=4+300.000 Prog=4+350.000 Prog=4+400.000 Prog=4+450.000 Prog=4+500.000 Prog=4+550.000 Prog=4+600.000 Prog=4+650.000 Prog=4+700.000 Prog=4+750.000 Prog=4+800.000 Prog=4+850.000 Prog=4+900.000 Prog=4+950.000 Prog=5+000.000 Prog=5+050.000 Prog=5+100.000 Prog=5+150.000 Prog=5+200.000 Prog=5+250.000 Prog=5+300.000 Prog=5+350.000 Prog=5+400.000 Prog=5+450.000 Prog=5+500.000 Prog=5+550.000 Prog=5+600.000 Prog=5+650.000 Prog=5+700.000 Prog=5+750.000 Prog=5+800.000 Prog=5+850.000 Prog=5+900.000 Prog=5+950.000 Prog=6+000.000 Prog=6+050.000 Prog=6+100.000 Prog=6+150.000 Prog=6+200.000 Prog=6+250.000 Prog=6+300.000 Prog=6+350.000 Prog=6+400.000 Prog=6+450.000 Prog=6+500.000 Prog=6+550.000 Prog=6+600.000 Prog=6+650.000 Prog=6+700.000 Prog=6+750.000 Prog=6+800.000 Prog=6+850.000 Prog=6+900.000 Prog=6+950.000 Prog=7+000.000 Prog=7+050.000 Prog=7+100.000 Prog=7+150.000 Prog=7+200.000 Prog=7+250.000 Prog=7+300.000 Prog=7+350.000 Prog=7+400.000 Prog=7+450.000 Prog=7+500.000 Prog=7+550.000 Prog=7+600.000 Prog=7+650.000 Prog=7+700.000 Prog=7+750.000 Prog=7+800.000 Prog=7+850.000 Prog=7+900.000 Prog=7+950.000 Prog=8+000.000
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